Multiplicar Tres Polinomios (H)

O

Ot

Simplifique cada expresion.

- (69 —9)(7g — 8)(8g — 6)

~(=5h* 4+ 3h)(—2h> + 4h*)(9R* — 3Rh?)

(6y° — y*)(3y* + 3y)(v* — 6v%)

(=55 + 55%)(7s — 6)(s* — 9s%)

- (3¢% +99)(—4g® + 7g*)(—5g° — Tg")
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Multiplicar Tres Polinomios (H) Respuestas

o

Ut

Simplifique cada expresion.

- (69 —9)(7g — 8)(89 — 6)

— 3369° — 1140¢* + 12429 — 432

(—5h° 4 3h)(—2h° 4 4h*)(9h° — 3h?)
= 90h® — 264h" + 186h° — 36A°

3. (6y° — yh)(3y® + 3y) (y* — 6y°)

= 18y'Y — 93y” — 93¢°® + 18y’

(=55 + 55%)(7s — 6)(s* — 95°)

— —35s5% 4+ 380s" — 6155° + 270s°

(39 + 99)(—4g> + 7¢*)(—5¢° — Tg")
= 60g¢" + 159¢° — 210¢° — 441¢"
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